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Vertical Division with aHelper Grid

Name:

Solve each problem.

1)

1|850

4)

8|549

7)

5|316

2)

2|868

5)

8|912

8)

2|208

3)

6)

9)

5|399

1|683

7|602

Answers

[ M ath ] www.CommonCoreSheets.com

1-9 [89|78|67]56|44[33[22]11] 0 |




=

Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
) 8/50 2 434 3) 7/9r4 850
1
1|8 50 2|8/ 68 51399
8 8 35 o 434
0|5 06 4|9
9 __ 6] 4.5 3. 9r4
0 0/8 4
8 4 68r5
0
5. 114
6. 683
7. 63rl
4) 6/8r5 S 114 6 683
8|54 9 8912 116 8 3 8. 104
48 8 6
6/9 1|1 08 9. 86
64 _8 _8
5 3|2 03
32 3
0 0
7) 6/3r1 8 104 9) 86
51316 21208 71602
30 20 56
16 0/8 4{2
5 _8 42
1 0 0
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